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REM TURTLE.BAS --- 0O UO0OO0O0O0OO0OO0OO0OOO0OOOOOO

OPTION ANGLE DEGREES
SUB right (t)
LET direction=direction-t
END SUB
SUB left(t)
LET direction=directiont+t
END SUB
SUB walk(s)
PLOT LINES: xp,yp;
LET xp=xp+s*COS(direction)
LET yp=yp+s*SIN(direction)
PLOT LINES: xp,yp
END SUB
SUB jump(s)
LET xp=xp+s*C0S(direction)
LET yp=yp+s*C0S(direction)
PLOT LINES: xp,yp
END SUB
REM --————————- start ———————————-
LET L=100
SET WINDOW -1.1xL,1.1%L,-1.1xL,1.1xL
REM 000000 (xp,yp), OO direction (xOOOOO)
LET direction=0
LET xp=0
LET yp=0
FOR i=1 TO 4
CALL walk(L)
CALL right(90)
NEXT i
CALL right(10)
SET LINE COLOR "red"
FOR i=1 TO 3
CALL walk(L/2)
CALL right(120)
NEXT i

\\END )
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/fREM KOCH.BAS

OPTION ANGLE DEGREES
SUB right (t)
LET direction=direction-t
END SUB
SUB left(t)
LET direction=direction+t
END SUB
SUB walk(s)
PLOT LINES: xp,yp;
LET xp=xp+s*C0S(direction)
LET yp=yp+s*SIN(direction)
PLOT LINES: xp,yp
END SUB
REM UOUO0OOO0O n OO0 Koch ODOOOO
SUB koch(n)
IF n>1 THEN
CALL koch(n/3)
CALL left(60)
CALL koch(n/3)
CALL right(120)
CALL koch(n/3)
CALL left(60)
CALL koch(n/3)
ELSE
CALL walk(n)
END IF
END SUB
LET L=3"8
SET WINDOW -0.1%L,1.1x%L,-0.1xL,1.1%L
REM D0O0O0OOO0OOOO
LET direction=0
LET xp=0
LET yp=0
CALL koch(L)
END
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REM U0 w=z"3 UU0OO0OOOOO0OO0ODOOOOO0OOO

OPTION ARITHMETIC complex
LET I=SQR(-1)
DECLARE EXTERNAL SUB segment
SET WINDOW -1,1,-1,1
SET LINE width 4
DRAW grid(0.1,0.1)
PRINT "OOOOOOO0ODDOOO0O w=z"3 OOO"
PRINT 30000000 OOOOOOO"
INPUT x1,y1
LET zl=xl+ylx*i
INPUT x2,y2
LET z2=x2+y2x*i
INPUT x3,y3
LET z3=x3+y3*i1i
PRINT "z1=",;z1
PRINT "z2=";z2
PRINT "z3=";z3
CALL segment(zl1,z2,2)
CALL segment(z2,z3,3)
CALL segment(z3,z1,4)
END
REM O O0O0OOOO
EXTERNAL SUB segment(z1,z2,c)
OPTION ARITHMETIC complex
DEF f(z)=z"3
SET LINE COLOR c
PLOT LINES
PLOT LINES : re(zl),im(zl) ;re(z2),im(z2)
FOR t=0 TO 1 STEP 0.001
LET z=(1-t)*zl+t*xz2
LET w=z"3
PLOT LINES: re(w),im(w);
NEXT t
\\END SUB
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